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S0T-89 can only handle 18 mA @ 24V

due to power Llimit of package.

We usually won't need more than

maybe BO mA but we need up to 400 mA

if MCU is under heavy load (90 mA

and we are driving a shorted bus {250 mA).

Current consumption will be much lower in
the normal case (with LEDs turned off, not
sending most of the time, MCU not doing
much). | would expect mare like 30 mA.
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ANALOG_INL_EXT GNDPWR be conducted into the power lines if necessary.
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(The LDO does have a diode so it won‘t die
because of a short an the 24V power Llines.)

old fuse: JK60-110, 60V, 1.1A {C369088)

This was upgraded because change to DCDC allows

more current for external beards (e.g. SV_EXT).
NOTE: The pitch is the same but the width is

voltage divider: DNP / OR 1Bmm instead of 14mm so bending it upwards to
10V —> 2.5V make more room for cables may collide with the
TP29 IDC connector.
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C ti )¢ ill be b
3g(r)re'|111A I; gsxow':sor(dvglhsr'eeﬂ;t:/eesepr! Tl example has the same caps in both brances
220 mA / 110 ohms {measured) when cald gJﬁ?lO ishpredflerrgdsbAeca‘u\s/eGist czar%vhandle GOV. but different caps make a maore useful filter,
oth can handle 0. at V_GS=2.5V. it seems (tested in LTspice).
and 50 mA / 460 ohms (measured) when hot. Hawever, we are Iimited to 30V anyway due to the LDO. ( pice)

The —3 dB point is at 30 kHz, This is lower than
see https://www.ti.com/lit/an/sbaa353a/sbaa353e.pdf necessary far aur ADC but way more than we need
but we are not using a low—offset or zero drift (but it daes mean that we have to enable the
amplifler because of price (mostly JLC basic parts here) measurement curreat far longer). However, this Is

chosen to be a bit lower than what the opamp would

achieve (again: according to LTspice) so our filter
+24v is dominated by the external components rather than
P39 GBW variations.
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DRIVE2 DRIVE2 move R6/R9 here to opt—out of using the opamp
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NT1
NetTie 2 use GNDPWR here: The amplifier will see the
= shunt voltage without any offset between GND
and GNDPWR. We will get the offset between
GND GNDPWR amplifier and ADC but that will be relative to

the ampliffed voltage, l.e. much less significant.

GNDPWR shauld usually be higher than GND so this
is fine. The amplifier supports input voltages of
0.3V below so negative rail so the ather way around
is also fine.

We want a dedicated connection to each shunt so any

ground offsets between the shunts will be compensated,

as well. We use net ties to make sure that we dan't
accidentally combine the signals on the way to the
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